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INDIAN SCHOOL MUSCAT

CLASS 6 - MATHEMATICS — ANSWER KEY (SET A)

ANSWERS

The sum of place values of 5in 85,95,042 is 505000

The number of whole numbers between 690 and 743 is 52

The value of 30 —18+6 is 27

(d)

Name the property : 765 + 0 = 765 = 0+765 Additive identity

Q.NO2

ANSWERS

(@)

Place commas correctly and write the number 79865341 in both Indian and International
system

7,98,65,341- seven crore ninety eight lakh sixty five thousand three hundred forty one
79,865,341- seventy nine million eight hundred sixty five thousand three hundred forty one

(b)

Find the sum by suitable rearrangement. 1765 + 648 + 235 + 352
(1765 +235)+ (648+ 352) = 2000 + 1000 = 3000

(c)

The population of Durgapur was 5,38,785 in the year 2001. In the year 2011 it was found to
be increased by 96430. What was the population of the city in 2011 ?
Ans : 6,35,215

i) Write the predecessor of the least 6- digit number. 99,999
ii) Find the difference between the successor and predecessor of 1,08,700
1,08,701- 1,08,699 = 2

(e)

Ram bought 15 tables and 15 chairs . The cost of each table is 1000 and the cost of
each chair is ¥ 300 . Find the total amount paid by him for the purchase.

15 x 1000 + 15 x 300

15 x ( 1000+ 300)

15 x 1300 = 19500

Q.NO3

a)Estimate the sum by rounding off each number to the nearest 100.
1235 + 985
1200 + 1000 = 2200

b)Estimate the product by rounding off each number to the nearest 10
498 x 79
500 x 80 = 40000

Q.NO4

Find the value using suitable property : 1935 x 103
1935 % (100 + 3)

1935 x 100 + 1935 x 3

193500 + 5805 = 199305







